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ﬁg TREOBEBOSILHOKRES TERFEDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESILADKES
5 X 4 B | Timh o OEER jmxa;é R 4 TiRALDKE | F meajé R 4 B | tmAhLoOLEE jw)xajé K 4 HiEhooks | & 7']0)7(%23
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ -|3mERBZB| 0.00 ~ 049 | 4.564 22.94 | 100kN/m#%#8 2% - -~ -|3m%ERBZ 3| 6.00 ~ 5.00 | 4.64 22.94
s 1.00 | 0.00 ~ 1.26 210 Fhs o049 ~ 126 3.00 16.16 st 1.00 | 6.00 ~ 5.00 210 ThSY | .00 ~ 5.00)| 3.00 15.16
2 100kN/mM%#BZ 5 -~ -|13mEFBZB| 000 ~ 049 | 4.58 23.16 | 100kN/m#%#8 2% -~ -|3m%ERBZ 3| 5.00 ~ 6.00 | 4.568 23.16
s 1.00 | 000 ~ 127 234 | Fhs o049 ~ 127|300 16.16 st 1.00 | 6.00 ~ 6.00 2834 | TS | 65,00 ~ 5.00)| 3.00 15.16
3 100kN/mM%E#BZ 5 ~ -|3mERBZB| 0.00 ~ 047 | 4.44 22.45 | 100kN/m#%#8 2% ~ -|3m%E#BZ 3| 6.00 ~ 7.10 | 4.44 22.45
s 1.00 | 0.00 ~ 1.26 317 | FnLS | 047 ~ 1.26 | 3.00 16.16 st 1.00 | .00 ~ 7.10 317 | #hRS | 5.00 ~ 5.00| 3.00 15.16
4 100kN/mM%#BZ 5 ~ -|3mEBZB| 000 ~ 048 | 4.47 22.57 | 100kN/m#%#8 2% ~ -|3m%E#BZ 3| 6.00 ~ 7.20 | 4.47 22.67
s 1.00 | 0.00 ~ 1.26 312 | FnLS | 048 ~ 1.26 | 3.00 16.16 st 1.00 | 6.00 ~ 7.20 312 | =hS | 5.00 ~ 5.00| 3.00 15.16
5 100kN/mM%#BZ 5 ~ -|13mEFBZB| 000 ~ 048 | 4.46 22.564 | 100kN/m#%#8 2% ~ -|3mERBZB| 5.00 ~ 7.20| 4.46 22.64
s 1.00 | 0.00 ~ 1.26 313 | EnLS | 048 ~ 1.26 | 3.00 16.16 st 1.00 | 6.00 ~ 7.20 313 | =nhS | 5.00 ~ 5.00| 3.00 15.16
P 100kN/mM%BZ 5 ~ -|13mEBZB| 000 ~ 051 | 4.67 23.61 | 100kN/m#%#8 2% ~ -|3m%E#BZ 3| 6.00 ~ 6.30 | 4.67 23.61
s 1.00 | 0.00 ~ 127 220 Fhs |os1 ~ 1.27] 300 16.16 st 1.00 | 6.00 ~ 6.30 220 ThSY | 65,00 ~ 5.00)| 3.00 15.16
- 100kN/mM%#BZ 5 ~ -|3mEFBZB| 000 ~ 049 | 4.563 22.89 | 100kN/mi#%#8 2% ~ -|3mERBZB| 5.00 ~ 5.00 | 4.53 22.89
s 1.00 | 0.00 ~ 1.26 213 | Fhs o049 ~ 126 3.00 1616 st 1.00 | 6.00 ~ 5.00 213 | ThS | .00 ~ 5.00)| 3.00 15.16
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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